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w2 Ao BEd Fold RE PS5 &
Bl A gyt ok BE stEEC] £47] 7150
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Aol e Foolv| 2=

(291 : 3)) (291 : 3))

98 107 87 128 113 79
154 143 164 | 169 147 129
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> e Feo B

&8

Ao BE :

(98 + 107 + 87 4 154 + 143 + 164) = 6
=753+ 6 = 125.5 (2])

FHoly BE !

(128 + 113 + 79 4 169 + 147 4 129) = 6
=765+ 6 = 127.5 (3])
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Fdole AL Rt 7|7} 24cm © A1, njAol= ALHEL) 7|7}
4.5cm B FYth Al AFFE] 7]19] Bto] 142.4cm P ), A4, T,
njA o] 71& At &2 247 SRl L.
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144.6 cm

B \
Al AFEe] 712] A 1 1424 x 3 = 427.2(cm),

57t 7Py Aong 4aol 718 [ et shd

F&)=[ |+24, =] ]+45

gt [ ]+ |+24+]  J+45=4272

3x[  ]=4203,[  ]=140.1(cm)

44 1 140.1(cm)
& 1 140.1 + 2.4 = 142.5(cm)
o)A 140.1 4 4.5 = 144.6( cm)
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